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GCSE in Mathematics B

Modular 2544 

Unit 2 Handling Data

Practice Paper A 

Higher

(Calculator and Non–Calculator)
Higher Unit 2 Paper A 
Section A

Calculator section

1.
A company makes hearing aids.


A hearing aid is chosen at random.
The probability that is has a fault is 0.09


Work out the probability that a hearing aid, chosen at random, will not have a fault.

…………………

(Total 1 mark)
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2. 
Here are the weights, in kilograms, of 15 parcels.


1.1
1.7
2.0
1.0
1.1
0.5
3.3
2.0


1.5
2.6
3.5
2.1
0.7
1.2
0.6



Draw a stem and leaf diagram to show this information.

(Total 3 marks)


3.
The probability that a biased dice will land on a four is 0.2


Pam is going to roll the dice 200 times.

(a)
Work out an estimate for the number of times the dice will land on a four.

.........................

(2)


The probability that the biased dice will land on a six is 0.4
Ted rolls the biased dice once.

(b)
Work out the probability that the dice will land on either a four or a six.

.........................

(2)

(Total 4 marks)


4.
The times, in seconds, taken by 11 teachers to solve a puzzle are listed in order

4      12      13      17      18      20      22      24      25      30      34.


The inter-quartile range for these times, in seconds, is 12

         (a)   Explain why.


(1)

          (b)   Draw a box plot for this data.
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(Total 3 marks)


5.
Mathstown College has 500 students, all of them in the age range 16 to 19.
The incomplete table shows information about the students.

	Age (years)
	Number of
male students
	Number of
female students

	16
	50
	30

	17
	60
	40

	18
	76
	54

	19
	
	



A newspaper reporter is carrying out a survey into students’ part-time jobs.
She takes a sample, stratified both by age and by gender, of 50 of the 500 students.


Calculate the number of 18 year old male students to be sampled.

…………………………

(3)



TOTAL FOR SECTION A:  15 MARKS

Higher Unit 2 Paper A 
Section B

Non-Calculator section

1.   
The scatter graph shows information about 12 countries.


For each country, it shows the percentage of the population in farming jobs and the percentage of the population living in towns.

[image: image2.wmf]80

70

60

50

40

30

10

20

30

40

50

60

70

80

Percentage in farming jobs

Percentage

living in

towns

×

×

×

×

×

×

×

×

×

×

×

×


(a)
Describe the relationship between the percentage of the population in farming jobs and the percentage of the population living in towns.



(1)

(b)
Draw the line of best fit on the scatter graph.

(1)


In Mathsland, the percentage of the population in farming jobs is 35%.

(c)
Use your line of best fit to estimate the percentage of Mathsland’s population living in towns.
……………………. %

(1)

(Total 3 marks)

2.
The manager of a school canteen has made some changes.
She wants to find out what students think of these changes.


She uses this question on a questionnaire.


"What do you think of the changes in the canteen?"

	
	
	
	
	

	Excellent
	Very good
	Good


(a)
Write down what is wrong about this question.



(1)


This is another question on the questionnaire.


"How much money do you normally spend in the canteen?"

	
	
	

	A lot
	Not much


(b)
(i)
Write down one thing that is wrong with this question.



(1)

(ii)
Design a better question for the canteen manager to use.
You should include some response boxes.

(2)

(Total 4 marks)
3.
Julie does a statistical experiment. She throws a dice 600 times.
She scores six 200 times.

(a)
Is the dice fair? Explain your answer.



(1)


Julie then throws a fair red dice once and a fair blue dice once.

(b)
Complete the probability tree diagram to show the outcomes.
Label clearly the branches of the probability tree diagram.
The probability tree diagram has been started in the space below.
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(3)

(Total 4 marks)


4.
The incomplete table and histogram give some information about the ages of the people who live in a village.
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(a)
Use the information in the histogram to complete the frequency table below.

	Age (x) in years
	Frequency

	0 < x  10
	160

	10 < x  25
	

	25 < x  30
	

	30 < x  40
	100

	40 < x  70
	120


(2)

(b)
Complete the histogram.

(2)

(Total 4 marks)


TOTAL FOR SECTION B:  15 MARKS

BLANK PAGE

Mark Scheme Paper A   

Modular 2544 Unit 2 = Data Handling

Higher – Section A – Calculator

1
0.91

2


0   5  6  7

1  0  1  1  2  5  7

2  0  0  1  6
Key:  0  5 = 0.5

3  3  5

3 (a)   40

(b)   0.08

4 (a)  Because the upper quartile ( the lower quartile = 25 ( 13 = 12

    (b)
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5
8     (7.6)

Mark Scheme Paper A   

Modular 2544 Unit 2 = Data Handling

Higher – Section B – Non Calculator

1 (a)   Negative correlation.    or    The higher the percentage of the population living in the town, 

           the lower the percentage of farming jobs, and vice versa.

   (b)
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   (c)   57%      (follow through from their line of best fit= straight line with negative slope)

2 (a)   It is biased as they are all positive statements … cannot say it is bad.

   (b)(i)   No time frame.  It is too vague as ‘a lot’ could mean anything.

       (ii)   How much do you spend in the canteen each week?

                  

          £0 ( £1.99
      £2 ( £3.99
              £4 ( £5.99

£6 or more

3 (a)   No.  It should really be closer to 100  (600 ÷ 6 faces)

   (b)
Red Dice


Blue Dice



Six

              
   
1/6


1/6
    Six

5/6
Not Six

1/6
   Six


5/6
Not Six


5/6
Not Six

4 (a)
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	Age (x) in years
	Frequency

	0 < x  10
	(160)

	10 < x  25
	60

	25 < x  30
	40

	30 < x  40
	(100)

	40 < x  70
	(120)


   (b)
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